TuRpa MAnpodopikig - Navenotuio Melpatwg ApPXLTEKTOVLKN] YITOAOYLOTWV

ApPXLTEKTOVLIKA YITOAOYLOTWV

| Kepalaio 3

| Aoknoeig

| Aoknon 1 - Ymrepyeihion

YT1roB¢aTe 611 01 A kail B gival rpoonuacpévol apiBuoi Twv
8-bit (2's complement). YtroAoyioTe To A+B kai TreiTe €av
uttdpxel utrepxeihion (overflow) i averrdpkela (underflow)
a. A =69, B=90

b. A = -125, B = -4

a. b.
01000101 69 10000011 -125
+ 01011010 90 11111100 -4
10011111 -97 01111111 127
(overflow) (underflow)

Ap18unTIKA YIO UTTOAOYIOTEG — 2
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| Aoknon 2 - Kopeopog

| Y1oBéoTe OT1 01 A Kal B gival Trpoonuacuévol apiBuoi Twv
8-bit (2's complement). YtroAoyioTe T0 A+B pe Tn xprion
TNG apIBUNTIKAG KOpEoHOU (saturation)
a. A =69, B=90
b. A = -125, B = -4

a. b.
01000101 69 10000011 -125
+ 01011010 90 11111100 -4
10011111 -97 01111111 127
01111111 (127) 10000000 -128
(saturation) (saturation)

Ap1BunTIKN Yia UTTOAOYIOTEG — 3

| Aoknon 3

| IpdywTe Eva Tpoypauua assembly MIPS 1Tou ekTeAei
TTOAATTAACIAoUO aTTPOCNHWY OKEPAiWVY PE OAIOCBATEIG Kal
TTPoCOLaelg
Mapddeiypa: 9x6=(2x2x2+1)x6
YTtrohoyiouog Tou $4 * $5 kai To amotéAeoua atov $2.
# $4 = multiplicand, $5 = multiplier

add $2, $0, $0 # initialize product to zero
Loop: beq §5, $0, Exit # if multiplier is 0, terminate loop

andi $3, $5, 1 # mask out the Oth bit in multiplier

beq $3, $0, Shift # if the bit is 0, skip add

addu $2, $2, $4 # add (shifted) multiplicand to product
Shift: sll $4, $4, 1 # shift up the multiplicand 1 bit

srl $5, $5, 1 # shift down the multiplier 1 bit

3j Loop # go for next bit in multiplier

#

Exit: finished.
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| Aoknon 4

| MpdaywTte TN duadikA avaTTapdoTacn Tou OEKAdIKOU
apiBuou -938,8125 otnv avarrapdotaon IEEE 754 (a)
atmAlg akpifelag kai (B) dITTAAG akpifelag

938.8125 = 1110101010.1101
KavovLkomoinorn: 1.1101010101101 x 2°

(o) sign = 1, exp = 127 + 9 = 136
1 10001000 11010101011010000000000

(B)sign = 1, exp = 1023 + 9 = 1032
1 10000001000 11010101011010000000000...0

Ap1BunTIKN YIa UTTOAOYIOTEG — 5

| Aoknon 5

| [Mo10¢ dEKADIKOG APIOUOC avaTTaPICTAVETAI
atro Tov apIiBPo KivnTig UTTOOIAOTOANG O€
Hopon IEEE 754 atTAng akpifelag

1 01111101 00100000000000000000000

= (-1)* (2~(125-127))*(1.001)
(-1)*(0.25)*(1.125)
-0.28125

Ap1BunTIKA YIa UTTOAOYIOTEG — 6
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| Aoknon 6

| AcigTe €av 10xUEl N 1IB10TNTA TNG TTPOCETAIPIOTIKOTNTAG OTNV TTPOCHOECN apIBUWV
KIVNTAG UTTODIAGTOAAG (YIa TOUG TTapakdaTw apiBuoug)
A = -1.6360 x 104, B = 1.6360 x 104, Cc = 1.0 x 10°
OewpnOTE TNV AvVATTOPACTACN KIVATAG UTTOBIAOTOARG TTou XpnaipoTroiei n NVIDIA:
sign = 1 bit, exponent = 5 bit (excess-16), fraction = 10 bit

(A +B) +C
(-1.6360 x 104 + 1.6360 x 104) + 1.0 x 10°

-1.6360 x 104 -11111111101000 = -1.1111111101000 x 23
1.6360 x 104 = 11111111101000 = 1.1111111101000 x 23
1.0 x 10° = 1.0000000000 x 2°

(a) -1.1111111101
(B) +1.1111111101
(A+B) 0.0000000000
(C) +1.0000000000
(A+B) +C 1.0000000000 = 0100000000000000 =1

Ap1BunTIKN YI0 UTTOAOYIOTEG — 7

| Aoknon 6 (ouv.)

| AcigTe €av 10XUEI N 1I016TNTA TNG TIPOCETAIPIOTIKATNTAG OTNV TTIPOCBECN APIBPWV
KIVvNTAG UTTodIaaTOANG (YIa TOUG TTaPAKATW apiBuoUg)
A =-1.6360 x 104, B = 1.6360 x 104, C = 1.0 x 10°
OewpnaTe TNV aAvaTTAPAEOTOAON KIVATAG UTTOBI00TOAAG TTou XpnoluoTroigi n NVIDIA:
sign = 1 bit, exponent = 5 bit (excess-16), fraction = 10 bit

A+ (B +C)
-1.6360 x 10* + (1.6360 x 10% + 1.0 x 10°)

-1.6360 x 10* = -11111111101000 = -1.1111111101000 x 23
1.6360 x 10 = 11111111101000 = 1.1111111101000 x 213
1.0 x 10° = 1.0000000000 x 2°

(B) +1.1111111101

(C) +0.0000000000 001

(B+C) 1.1111111101

() -1.1111111101

A+ (B+C) 0.0000000000 = 0000000000000000 = O

Ap1BunTIKNA YIa UTTOAOYIOTEG — 8
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